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1. BRI EREEOME
(MIZOFE
TiH X IE
EXxHE O UBEMX &t FEHY/IHILIE HihX
£ 1] _
Fr & WAORSFEHHmARF/NE1978MD10
x b (A= itExEB I 489 A
FTENRAL BE. ZOMIE RS
i 2 3 fERRR
5 e |gEW| e | smem | TEEP SRR e
24— |iBBIEER 12 1% 15
24-= |BEN A EHEER 3 3 3%
B OE OB R 271 |EBESR 15 1= 15
27"5( %h xgl::%ﬁﬁu& 8% 8% 8%
(BB - 4| 33 [EhFAESRES 13 1% 1%
-1 BB TEER 3 3E 3
- B %) | 46-0 [EBEFES 10 10% 7E] 17E
46-= |Bh AGEETREE 115 1% 5%  16&
47-0 BBk 25% 255 -7&| 18K
47-n | BENEER 83 83 83
47k |BEN AR | 143 14| 5% of
63-3 |BEh AJtiF iR 1 15 15
63— |BEh AEEES 1XE 15 15
15-4 |BARKEHBBROcE) | 15 15 12
74 |EHESRNIEE 1E 1% 1
74 [FRBEKMEEE 1H 1E -3
T1D4-FREDBFEHER 15 1% 1E
s1uzae | BEH RS EROE)| 1H 15 15
1sn0a) | IR ECA MDD E)| 3 3E RE-Y
=11 170& (18- 0(| 170 1703
(AT 905,216.1 (=R 9247714
Kk EBE|EE m’ - H| & K m’ R
(ZE®) 9052341 (ZEHE%) 9248184
(ZHgN | (EFER) | (ERE)
HEAKERD HEKE m/8) 924,771.4| 9248184 47.0
| CODERE (keg/H) 34234 34237 0.3
8 & = SSEHRE ke/H) 7746.6 77471 0.5
T—NEf=E (ke/B) 1534.6 1536.7 2.1
D B O T—-PERE keg/H) 67.4 67.4 0.01
Y42V 0%E(pe-TEQ/H) 595.6 596.0 0.3
Bk Ao | hiES 1ME ,
Rl RREE } =
MERDFESE| EUIEE 1# Bt -BiKEE
EHEFRNBEE 15
E U #| BKEAEE 15 A&t 15%
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) FEMRRDFRE (EE) DEHRUHE
BFERRORE (EB) EHYFEA,

(B)BEKBITHEITHBEHKDFRRERVENED (EST) DIGEILEH

SMHE. . BEEZOEENTRLIELHS, FETIANISGHEHRICTEWNVTEILERRE
DEZAMDEREDE. BFELETUEZTR—N\SFAF— (KB EELL, FH=IC
RIDBFRICEE LB LT EFR—INSAF—F BB LT, e HEERIE-TY
EoTFR—INSGAHF—ZFBETHIEICLY., TKOEREQIDONAEINIELF—/A—K (10
SHEKO) H4.7m3/BIEMLET A, TO R FAK (E105H/KDO)<2070:RK/ N\ FH—
IN—IKH4.Tm3/BFLT 55, BEKEDERIEHYEEA,

Ff-. FETIHINTIBHEMREEOFEEOHEKEXZRELEL:, ChITKY., BEKE

Aa7mEmL ., EAFHELEMLEL,

R105#HEKk0O THE] ZETHRE E=E2 EE
Hek=E m®/H8 85089.62  85138.6 49.00 tEhO
CODBE mg/| 45 45 00 %L
CODEfR = ke/ B 384.2 384.6 04 HEhn
T-N;EE mg/| 5.8 5.8 00 7L
T-NEf= ke/H 4935 493.7 0.2 &N
T-PiRE mg/! 0.22 0.22 0.00 7L
T-PERE kg/ H 18.4 18.4 001 i&im

158K O EHET ZLETHEE EE
HekE m®/H 35040.8 359238 -17.00
CODEE mg/| 10.9 10.9 00 7L
CODEfIE ke/H 391.8 3916 -02 Fd
T-NEE mg/| 15.0 15.1 01 7L
T-NEfF= ke/H 539.1 540.9 1.8 &
T-PRE mg/| 0.05 0.05 0.00 7L
T-PEAR=E keg/ H 18 1.8 0.00 7L

[icpA=g: ¥/ qul ETEAT ZTEER 2 EE BE
HekE m®/H 44541 44556 15.00 &h0
CODEE mg/| 5.6 5.6 00 7L
CODERIE ke/H 249.4 2495 0.1 &
T-NEE mg/| 1.0 1.0 00 %L
T-NER=E ke/H 445 44.6 01 7L
T-PEE mg/| 0.06 0.06 0.00 7L
T-PEARE keg/ B 2.7 2.7 000 7L

&t ZTHEA ZETEE =8 R
HEk= m/A 165571.42 165618 47.00 &M
CODEE mg/| 6.2 6.2 00 %L
CODERE ke/ B 1025.4 1025.7 0.3 m
T-NEE mg/| 6.5 6.5 00 #L
T-NEFE - kg/H 1077.1 1079.2 21 #m
T-PEE mg/| 0.14 0.14 000 %L
T-PERE keg/H 229 22.9 0.01 &im

ZFOEEKOZEELL



2. BITRAIBAZRE1EHOREICETSEE

(1) IERIFEBESHALOHKBBRIVICIBXIELSOEHKONUBRUHK

7 BKADLE

1 HKODH

7 HKRHERUVKZREOIRE

(51

15 HFT

REE 1 BoLsy

(N 9AFRIEREKDH)

REE EoEsY

OOZIRE— x x Pk BEER N1 KO- AANI-EFNE( OOE )

HEFEHEK
A H K

No.23Ek 0T —

(2) IBXIEEFEBOHKODEDOAKAKEICOVTEDONTNAKEFBICRIBER
EZTDMKEFTRICRIBERE LOEEICEIZEE
7 KEFEBICRIBIEESE

(7) ADREIFBERSE

: o= . Vi " TILEIL | R | 0o
HE || ARsYL | 2Ty | 8@ pun | ER | ma| | T JUED ) RN
H 0.003 B 0.01 0.02 0.01 0.0005 BHE BmHE 0.02
#E mg/1 nin mg/1 mg/1 mg/1 me/1 N niziy mg/!
{E LIF —& LIF LIF LT LT _& _& LR
g | mEt 17'1:121:1_:;//5:' 1,1-y900 |Y2-12-Y" [1,1,1-b9m |11,2-M90 (ky&En [FR540 [13-S50

RE : IFLY HnpIFLy (AT oI4y IFLYy |AIFLY A7aRy
H 0.002 0.004 0.1 004 | 1 0.006 0.01 0.01 0.002
#E me/1 me/1 mg/T mg/1 mg/1 mg/1 - mg/ me/1 mg/!
{E LUF LT LUF LIF LIF LUF LUF LT LIF
coen,  |FANVILT THEEEER| | 4o
BB || Fo54 | YUY Wuithe | vty v L Y| B3% | seom |Bumme 4O
7) H 2 &

E2d 0.006 0.003 0.02 0.01 0.01 1 0.8 10 0.05

# mg/1 mg/! mg/! me/! mg/! mg/] me/! mg/1 me/!

{E UTF LIF UT LT LUF LLF LF LIF LT




() £ERBICHEIIREEE

ol % oM@ - EE A FE-/NEF A
R 5 £ # M| UD—10 UD—11
B KB £ # ¥ # c.o Cc.II
KFEAFTEE(CPH) 7.0 ~ 8.3 7.0 ~ 83
P £ eFERIEERERE (BOD ) me/ - —
MR BB RERE(COD)me/ 8LLTF 8LLTF
= % E ¥ H E(SS)mgd - —
B 7 B X E (DO )mgt 20k 20k
& X B B 3 MPN/100m/ — —
n—~FHUMEYMES mg/1 - -
S =3 E mg/1 0.6LLF 0.6LLF
E o mg/ | 005K 0.05LLF

1 ZOMOKEFTEHIRIRERELDOBER




(3) TI/XFEFFOZHKOICEIT2HHKDFRIREDBEDERVRADELTICZHEZH
HADT1EHYDEEDERUVRADESNIZUFZBHKDFHEFE

(1/3)
#okO X & L] ® HRE(XH)Z ERED
2 % %
" B & w R KA 1 =@ & X&a ff 28 i
HEkE mP/B | 774854 85,0896 77,512.4| 85,138.6
-~ :df 6 6
- ki'{ﬂj RE 75| ~ 75| ~
P 9 9
10 EYE R ER . _ _ . _ _ _
FEKE (BOD)
M ~
= ;’ég’éﬁffg 45 20 384.2 45 20 384.6 +0.4
HE '*ﬁ%’gi 13 25| 11062 13 25| 11068 +0.6
7K 3 (%_N)gg 5.8 23 4935 5.8 23 4937 +0.2
] £ (T_g‘? 0.22 2 18.4 0.22 1.8 18.4 0.01
BAAFTUEE
pg-TEQ/! — 10 595.6 - 10 596.0 +0.3
HEKE m/H | 282308 359408 28,212.8| 35923.8
~ 88 6 6
mo | kg&’{ﬁ; RE 74~ 74~
P 9 9
. ety L =3: oFi . _ . _ _ _ _
FERKE(BOD)
Ig“ .3
=) i&%?’éﬁfig 10.9 20 391.8 10.9 20 391.6 -0.2
BE '*’E?f)% 15.9 25 571.5 15.9 25 571.2 -0.3
7K £ ?_N)% 15 48 539.1 15.1 48 540.9 +1.8
| £ (T_gﬁ 0.05 0.8 1.8 0.05 0.64 1.8 +0.0
X BEEU/B)=BAHKEm’/B)xBEKE(mz)*10"
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(3) TIBRFEEFOEZPKOICHITEHHAKDFEREDREDERVRRDEL <S5
HKDTELYDBEENERVRAOELVICHZBHKOFREERE

(2/3)
Hk O X & -} VN RE(ZER)® BERmED
BEEXIX % <
% ﬂ-‘ N n | B3 . = |y Rl | B2 . RN
IE B & = X &7 2@ = K& 7 =i pid
HEkE mi/B | 422999 44,541 42,3089 44,556
KRAA R 6 6
mo | AT EE 72|~ 72|~
(pH) 9 : 9
9 =27k (= 23: i _ _ _ _ _ _ _
RERK=(BOD)
= {EEMEBFRE
= 2 (COD) 5.6 20 249.4 5.6 17 2495 +0.1
HE FEMEE 12 25 534.5 12 25 534.7 +0.2
(ss)
& B %
K (T=N) 1 5 445 1 7 44.6 +0.1
= o= '
[ (T—P) 0.06 0.8 2.7 0.06 0.64 2.7 +0.0
HkE m'/H 18,000 20,000 18,000/ 20,000
| KEAAURE 15~ S5t~
(pH) : 9 ' 9
3.4 e oL =4 ol v _ . . _ L _ .
FZE K= (BOD)
= EZENBRRE
=1 R (COD) 35 15 70 35 8 70.0 +0.0
HE FEMEE 18 25 360 18 25 360.0 +0.0
(SS)
® B F
K (TN 0.7 6 14 0.7 5 14.0 +0.0
=y b
O (T—P) 0.05 0.2 1 0.05 0.18 1.0 +0.0
% ABEEGe/B)=BXHKkEm’/B)xBEBEKEmeN*x107
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(®) TIHEXIFERGZOEFHKOAZETEHHKDFRREDEEDERVRZRADOEIL I L HE
HAKDTBLHYDBEEDNDERVRZRRKDELERICHZFH KOFTHEHTE

(3/3)
HokO X & 37 K HRE(ZEH)®% BRED
BSXIE % X
% % -~ =] . = e i — | . =
5 H bt} BIR K& & EE B R K& 7 = 5
HekE m’/B 91,200/ 91,200 91,200/ 91,200
KEAARE 6 6
R RO 75~ 75~
(pH) : 9 9
6 £ _ _ _ _ _ _ _
$RERE(BOD)
= EEMBRRE
=) 3k 2 (COD) 35 45 319.2 35 8 319.2 +0.0
B # ﬁ?s%% 7 25 638.4 7 25 638.4 +0.0
& = = |
K (T-N) 0.6 3 54.7 0.6 5 54.7 +0.0
e o
m (T—P) 0.05 0.2 46 0.05 0.2 46 +0.0
HekE m¥/H 648,000/ 648,000 648,000| 648,000
5 | KEATURE 63 ~ sal ~
(pH) : 9 : 9
7 Wi ErEg _ _ _ _ _ _ _
FERE(BOD)
= LR E
=) SR (COD) 3.1 45| 200838 3.1 8/ 20088 +0.0
B 7+ ﬁ%gg 7 25 4536 7 25|  4,536.0 +0.0
& B %
K (T-N) 0.6 3 388.8 0.6 5 388.8 +0.0
& e
O (T—P) 0.06 0.2 38.9 0.06 0.2 38.9 +0.0
X ARNEGe/B)=BAHKEm’/B)xEEKEmz)*x10"°
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@) FAHXRKEOKEDOETRRRUHHKOHFEHITHNTFASNIBDALRKEDKENE

{EDFRE
7 & =
RAKHES |PrREASNZETREERG - SWEER  |FREAFTNZEFBRESN 52—
B oE R & A—1(r/3) /B8 BEEL]
RKERBRUGHMED S KBC eH Co0 L L
%1E 2025458278 |® B 180/ 81 2.1 10 017 0019 7.9
850945 f B 18.0 8.1 2.5 2.0 0.18/ 0.019 8.4
12k F dmiE | K|FE ) 180 8.1 2.3 1.5 018/ 0019 8.2
HomE 5H278 | B |& B 190 8.1 2.3 10| 015 0016 8.3
1085534 @ [t B 185 8.1 23 10, " 018 0015 83
FED A TIFE | B FE 5 188 8.1 2.3 10| 017] 0016 8.3
% 3[H] 5278 | R |k B 19.3 81| = 25 2.0 0.20| 0.021 8.8
1485204  |th BB 189 8.1 2.5 30, o018 0020 87
FisDR: Fi T 19 8.1 25 25 019 0021 8.8
B ¥ ¥ 186/ 81| 24 17| o018 0018 84
i e K =1 = - 2.3 2.8 028 0023 -
#E R A A—2(2r/3) [iBEBERE]
mokEABRUEME S |kEco e (OO0 5 TN T RO
#1E 2025£5R27H R E| 79 8.1 23| .20/ 017| 0018 78
8Ff165y| | M| 475 s 22| 30| 047] 002 79
FEmDR: WmE K [E B 17.7 8.1 2.3 25 0.17| 0.019 7.9
g2[E 5A278 B X B 137 s 22| 20 016/ 0017 85
T0H585) @\ & (go| g1 2.3 20| 015 0018 86
FimD - TH#E BT Y 18.1 8.1 2.3 20/ 016/ 0.018 8.6
F#3m SA278 &% & B 190 81| 23 20 ote| o019 78
1485265 | B| 480, 81 25 30/ 016/ 0021 8.7
FimD A T3 DO S 185 8.1 24 25 0.16| 0.020 8.3
#a g i 18.1 8.1 2.3 2.3 0.16| 0.019 8.2
e &3 K =1 - - 2.2 2.5 0.19| 0019 -




#BME R A A—3( r HhmsNG) [BEBER]
ok A B R UMD S KB oM cob iss TN TR DO
#1[E 2025%£ 5827H x® B 17.8 8.1 2.1 20/ 015 0019 8.6
8224 F B 17.5 8.1 2.1 3.0 0.15| 0.019 8.3
Fimn il B K|FE 17.7 8.1 2.1 2.5 0.15| 0.019 8.5
E2[m 5R278 | & |k & 18.2 8.1 1.9 20/  0.14| 0017 9.4
1185025 @ |Hh B 175 8.1 2.1 20| 0.5 0018 8.2
FiEDR: TIFE R|\TH 17.9 8.1 20 20/ 015 0018 8.8
£3[m 52780 | R |k & 19.1 8.1 2.6 20/ 019 0018 8.4
1485364 |h B 17.9 8.1 25 30/ 0.16] 0018 8.9
T T SO S 185 8.1 2.6 2.5 0.18/ 0.018 8.7
% F 5] 180 81| 22 23| 0.16] 0018 8.6
=5 *x K B - - 2.2 2.3 0.16/ 0.018
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(4) AAAHRAKEDKEDRERVEHKDERICHWNFRAShIBAALALRKEDKEDE

EDIRE
7 &' B
BK#EE R |[#RaAsNETRRERfitos—| SEEE  |PREAZNZEFHRERT 54—
M E R A B—1(r.”3) [iigBER]
MAEARRUEMI S |kEco ed OO0 55 TN T PO
%¥1[E 2025%£ 5827H KX B 115 8.1 2.2 20/ 019 0018 8.2
8E4 15 h B 173 8.1 2.3 30| 0.8 0019 8.6
FiED R | K |TE 17.4 8.1 2.3 25 0.19/ 0.019 8.4
$F2[H 5A27H | B |k B 18.3 8.1 22 3.0 0.15| 0.018 8.6
118194 @ |f B 179 8.1 25 50/ 017 0022 9.1
FiED A : TIFE (B’ EH 181 8.1 2.4 40| 0.16] 0.020 8.9
3 5270 | R & B 18.7 8.1 2.3 30, 0.6/ 0019 8.7
1485504 | FB| 183 8.1 25 .40 018/ 0023 94
FiFEmD A Ti#8 Ty 18.5 8.1 2.4 35 0.17| 0.021 9.1
@ T g 18.0 8.1 2.3 33| 017 0020 8.8
= 3k K =1 - - 2.3 24| 028 0022 -
M E R & B—2(2r73) [iBEBER]
moke A B RUEMIS  KkEco| en OO0 TN TP PO
$1E 2025£5R27H| R B 475/ 81 24 10| 015 0017 80
883677 |\ BB 75| 81| 22 20/ 016 o00t6] 80
FmD A WmE | K|TE B 17.5 8.1 2.3 15 016 0017 8.0
F2[ SA27B | H R B 92| s 23| 10/ 015 0015 87
118155 O | B 489 g1 2.1 20| 0.6/ 0016 8.6
FiHBmD A TIFE B’ |FE B 18.7 8.1 2.2 15 0.16/ 0.016 8.7
#3ME S5HA278 R |R B 187 81| 25 60/ o016 0022 77
1485465 | B 483 g 26| 40/ 018/ 0021 8.2
FiED R + i3 SO 18,5 8.1 2.6 5.0 0.17| 0.022 8.0
# F b 18.2 8.1 2.4 27/ 016/ 0018 8.2
1 % K B - - 2.2 20, 019/ 0019, -




#HOE R A B—3( r HifsR) [iBEBER]
BokeEABRUHMT S |KECC) pH cob s8N TP DO
%1E 2025¢ 58278 x B 175 8.1 2.3 20| 0.16| 0016 7.8
8EE314Y| | K| 174] 81 20/ 20/ o017] o019 83
FEDR: e | KIE B 175 8.1 2.2 2.0 0.17| 0.018 8.1
g2 5H278 | B & & 19.2 8.1 2.0 1.0, 0.5 0016 8.7
11851153 O | [ 18.6 8.1 2.1 1.0/ 017/ 0016 8.7
FiEDH: TIFE R/ T 18.9 8.1 2.1 1.0  0.16] 0016 8.7
£30E 5A278 | R |k & 19.2 8.1 25 20/ 0.16/ 0018 7.7
1485415 | B 185 8.1 2.3 30/ 016 0019 6.6
FRDA: F# ¥ 189 8.1 24 25/ 016/ 0019 7.2
#® F ¥ 18.4 8.1 2.2 1.8 0.16/ 0.017 8.0
= 3k K =1 - - 2.2 1.8 0.16

0.017
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(4) BLOAFRAKEDKEDRR R UOHHKDOHHIZHNFRENSRELAERAKEDOKEDE
EDEE

7 & H

BKHEER |z S I2ETSRERHtvs— SDFHEER |PREABIZEFBEERNTtE 42—

B OE R A C—1(r.”3) [/EEBEE]

mAEABRUHEMI S kAo ew SO0 S TN TERO
%1[E 2025%£ 5H27H = B 176 8.1 2.2 10| 017/ 0015 8.5
8HF4 745 b B 176 8.1 2.1 1.0 0.15/ 0.016 8.7
FHEDH: mgl | K|E g 176 8.1 2.2 1.0, 016/ 0016 8.6
2] 5H278 | & |& B 182 8.1 2.2 40,  017] 0020 8.1
118249 @ |h B 177 8.1 2.3 40| 019 0024 8.7
Fmodl:  THE R |T 18.0 8.1 2.3 40, 018 0022 8.4
HE3ME 5H27H | R |&k B 19.4 8.1 2.9 30/ 029 0.026 7.9
158005 B 18.8 8.1 2.7 2.0 0.20| 0.022 8.7
FEmD: Fi# ¥ 191 8.1 28/ 25| 025 0024 8.3
N F 5 18.2 8.1 2.4 25/ 020 002 8.4
=k K =1 - - 25 24| 029 0022 -
#MOE =R & C—2(2r/73) [iBEBER]
MAERBRUEMN DS Ko eH o0 P TN T PO
$1[E 20252 5R27H| R B| 479 g4 2.1 10| 016 0016 80
8FFS1 |  \H B q79] 8 19| 20/ o015 0015 83|
FiEDR: FE KT 179 8.1 2.0 15/ 0.16] 0016 8.2
2 5A278 B R B 187 31 23| 30| 017 0020 86
| 11852990 O | | {79 8.1 2.1 40| 018 0020 8.1
FED R - TIFE R/ |F B 18.1 8.1 2.2 35 0.18/  0.020 8.4
F30E SA278 | |® B 150 81| 28 60/ 019 002 76
166055 | B g5 8.1 2.2 60| 023 0028 15
FimDH: T3 I 18.7 8.1 2.5 60/ 021 0.027 7.6
% Es i3 18.2 8.1 2.2 3.7 0.18/ 0.021 8.0
5 % 7K =1 ~ - 2.4 20| 020 0019 -




BHE R A C—3( r Hmsg) [BEBEE]
Mok A BRUBME G |KECC) pH cob jss TN TP DO
#1[E 2025%£ 5827H = 18.2 8.1 2.2 00, 0.16] 0014 7.1
8564 h B 18.2 8.1 2.0 1.0 0.16| 0.015 8.0
FimD Al : wEEO|KIE Y 18.2 8.1 2.1 0.5 0.16/ 0.015 7.6
g2 5H27H | & |k B 19.1 8.1 2.6 1.0 018 0016 8.6
1185365 O |\ [E 185 8.1 2.3 1.0 018 0017 8.6
FiED R : TIFE |8 (T 8 18.8 8.1 2.5 10| 0.8 0017 8.6
E3[H 5278 ||k B 187 8.1 2.4 30/ 018 0.021 76
1585105 |0 B 187 8.1 2.6 50, 018/ 0023 8.1
FimD A T i3 Iy 18.7 8.1 25 40 0.18 0.022 7.9
% T 5 18.6 8.1 2.4 18/  017] 0018 8.0
5 % K =1 - - 24 18| 017/ 0018
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A4 A )i

FRIK#EE A S TEARE 4
. R BOD |COD |sS T-N T-P weE [DoO
A
H
" X Kk EBH
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v ZTOMEEKIEICETSEE
zL

6) HEHERUTHOSE
7 FRAHEOHEMOEE @®-8®)
(f=EL. FRAKHROEMALNES L, (UTIEEKTS,)
A HHKOREAKE TOREEE
AHE 3 E

27 FEOFEE
7) B

(1) HHEE(log (r?0.72)=1.226 logQ+0.086 )1 53R &H1-F T
NEKBONEETOIER (r) &, 4002mTT,

9 = 314 (HEiENAE ) 180E
Q= 924818.4 m’ /B ( R KHEKE )

r= 4002 m



2)

g—E¥7- BRI —K{ C=1—exp( —

NoRO-FIRE(C)ERDEBYTT,

C(r/3 MDHheE) =
C(2r/3Mihm) =
C(r Oihm)=
(FE) Q,=
6=

Q, , 1
Bdp X
0.082
0.021
0.000

9248184 m’ /B ( BXHHE)
314 (HERAE)

2m
864 m./ H
r 2r/3 r/3
4002 2668 1334

4002 m ( r>FREE )

(3) S" =S, + (S,—S, ) CHLIFIRDKEETFRT B,

@ AR
Al (r/3DH#hs )
S’ (cob)=
S’ ( 8S )=
S (T—N)=
S (T—-P)=
A2 (2r/3MDHhE |
S’ (coD)=
S’ (8s )=
8" (T-N)=
S (T—P)=
A3 ( r OOHhE)
S’ (coD)=
" (88 )=
" (T—N)=
" (T—P)=

nw noon

SULIRREE

1334m
2217 + (387 _ 222)
2333 + ( 84 _ 233)
0157 + ( 17 _ 0.16)
0018 + ( 01 _ 002)

2668m
2217 + (37 _ 222)
2333 + ( 84 _ 233)
0157 + (1.7 _ 0.16) -
0018 + ( 01 _ 0.02)

4002m
2217 + (37 _ 222)
2333 + ( 84 _ 233)
0157 + ( 1.7 _ 0.16)
0018 + ( 01 _ 0.02)

SO:HEHH iR EE

1

( —T— Nl

O Eagk (m)

- 0.082
- 0.082
- 0.082
- 0.082

- 0.021
- 0.021

0.021

- 0.021

- 0.000
= 0.000
- 0.000
- 0.000

Il

fl

2.338
2.827
0.280
0.023

2.248
2.461
0.188
0.019

2.217
2.333
0.157
0.018



2 Bihs
Bl (r./3M#5 ) 1334m

S’ (coD)= 220 4 (37 - 220) . 0082 = 2.323
S (8s)= 183 , ( 84 _ 183) . 0082 = 2.368
S (T—N)= 016 , ( 17 _ 016) . 0082 = 0.284
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s’ (coD)= +( -
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S (T-N)= = +( —
s’ (T—P)= +( -
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S’ (BOD)= + ( —
S’ (coD)= +( —
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S (T—N)= + ( -

S (T—P)= +( —
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